191773903 OR°M° 27 Hw M

Yevamos Perek Gimmel is Dedicated 1"v'?
77T 107X 2 N2 npza nn
77T w'7h 'xn 1 2 DNNAX 7NN

77T 170 hwn 2’nn Nna y7xn nn

5 17 NAad

1. On the first Mishna yam1 27 says, from here we can deduce that there is no n°1. His proof is from the fact
that the miwn says that if the 3rd brother did 27&» on his late brother’s widow his wife gets n1%°%m, therefore
we see that without nxn» she would be eligible for 212°. Why can’t we say that without nx» she would still
only get nx°5n, but the Mishna is telling us that with =nx» we still NEED nx°5n? This would also fit better
into the words of the nawn, because if the Mishna intended to teach about 5ip°1, it can do so more directly.

2. On the second mwn the X3 asks why we need both this mawn as well as the previous mawn. If in the first
mawn whereby the nwr minX is not the primary wife, she exempts her co-wife, than of course in the second
mawn that the swx mink 7w is the primary wife she exempts the co-wife. Why would it make a difference
who is first? At the time of o12°% 7%°01, both wives are falling from the same brother.

3. In the third mawn we learn about 77081, The 7awn discusses the my of nwr ming, but is silent about her
7% (see 01n’). Why would nox1 effect one and not the other? Is the problem of 770&1 connected to the first
brother mwx and not to the n>151 "»w1? Meaning that in order to exempt a co-wife, the mv needs to relate to
the same marriage, and not a previous one?

4. 27 says that any nn2° that is not able to do 012> when her husband died, becomes like an 1% vw nx nwx
o°12. Why is this necessary, anytime that there is no mx» of 012> we have a 1R of nx nwx?

5. If there are brothers capable of doing 012 in addition to the brother who cannot because he is married to
the nn2>’s sister, why is she considered 7°%¥ X12° 712> 79°51 Nywa 72 8P X PR? Clearly she is able to do
012> with one of the brothers, so how can she be called 2°12 7 v w nx nwx, which is 212°% 770K8?

6. In case of a pwra poo equivalent to PP P90, in which we don’t know if the va landed in her mnak 7 or
in his, we would not even require a nx°>>n for the 71%. Rashi explains that before the husband died (and
before he threw her the v3?) the 7% acquired a status of mny nax. How would this apply if we hold 7nn
noon?

If you have any comments or suggestions please email me at Ygrunhaus@gmail.com
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